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Question 1
Question Type: MultipleChoice

An administrator is configuring a cluster for ILS and wants to limit the amount of entities that Cisco Unified Communications Manager

can write to the database for data that is learned through ILS. Which service parameter is used to adjust this limit?

Options: 
A- ILS Max Number of Learned Objects in Database

B- ILS Active Learned Object Upper Limit

C- Global Data Service Parameter Limit

D- Imported Dial Plan Replication Database Object Lower Limit

Answer: 
A

Question 2
Question Type: MultipleChoice



Refer to the exhibit.

How many maximum hops can an ILS update traverse?



Options: 
A- 3

B- 6

C- 9

D- 12

Answer: 
A

Question 3
Question Type: MultipleChoice

When locations-based Call Admission Control denies the call, which two masks can AAR apply when routing the call through the PSTN?

(Choose two.)

Options: 
A- AAR destination mask



B- called party transform mask

C- external phone number mask

D- +E.164 alternate number mask

E- enterrise alternate number mask

Answer: 
A, C

Question 4
Question Type: MultipleChoice

Which call pickup feature allows users to pick up incoming calls in a group that is associated with their own group?

Options: 
A- Other Group Pickup

B- BLF Call Pickup

C- Group Call Pickup



D- Directed Call Pickup

Answer: 
A

Question 5
Question Type: MultipleChoice

An engineer is configuring a call park feature in Cisco Unified Communications Manager Express. Which command does the engineer

use to ensure that the call is reverted to the user after 60 seconds?

Options: 
A- R2(config-ephone-dn)#park reservation-group 60

B- R2(config-ephone-dn)#park-slot timeout 60 limit 2 recall alternate 3002

C- R2(config-ephone-dn)#park reservation-group 1

D- R2(config-ephone-dn)#park-slot timeout 30 limit 2 recall alternate 3002



Answer: 
D

Question 6
Question Type: MultipleChoice

Which two types of distribution algorithm are within a line group? (Choose two.)

Options: 
A- random

B- circular

C- highest preference

D- top down

E- bottom up

Answer: 
B, D
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